mAEMm R REFEHS (KRS BEBHR
SH7E6A7H (+mH)

Fx ENSEfash=E: 1881 bV
(B ILHEREST)

BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
13010072V A [y 15,370
130100|7 W A & 15,330 0| 13,150 10 1,944 1,512
130340 ICA LA [y 21,170
130340 ICA LA FLE 7,650 0 7,650| 10 1,944 756
130340 ICA LA RI& 11,590 0| 11,590 10 1,998 864
130340 ICA LA BEAR 500 0 500{ 10 1,944 1,566
130400| 1% 5 iy 1,194
130400 1% 5 Eix 870 0 870| 10 7,020 1,620
130600|1LA Z A iy 735
130600{1L A T A hy= 735 0 735 5 3,780 972
131100|H 3 [y 8,200
131100| B3 RE 4,075 0 3,755 10 1,944 1,080
1311003 i 1Ly 4,125 0 4,125 15 864 648
131700(%F v~ e 26,846
131700|F v+ R R 510 0 510/ 10 1,080 756
131700(%F v~ =5 6,460 0 6,260 10 1,080 756
131700(%F v ~ & 19,876 0| 10576 10 1,296 648
131800(I1F 53 A E HE 3,354
131800(IF S MAE Iz B 2,812 0 2,776 3.6 3,564 2,052
131800(I1F 5 WA= FfE 289 217 72| 0.2 119 92
131910|Fh & [y 984
131910|F & N 27 0 27| 0.5 702 324
131910|Fh & i 1Ly 240 0 240 1 540 216
131910|F & &I 589 0 589| 10 4,320 3,564




131910(Fh & iR 70 0 70 5 3,240 1,404
131950|H A & e 5,193

131950(B & Ik 3,240 0 3,240 5 2,106 1,296
131950|H A & BER 1,200 0 729 3 1,728 864
133400(L % 2 et 16,400

133400(L % % R 12,234 0| 10,130 10 1,674 648
134100 |#8/1 et 16,032

134100 (&A1 = 2,905 0 2,850 5 1,836 918
134100 |#8/1 ) 1,750 0 1,750 5 1,944 1,026
134100 (&A1 TiE 4,075 0 4,075 5 1,944 1,134
134100 |#8/1 Syt 960 0 700 5 1,728 1,242
134100|#A/1 = I 4,470 0 3,195 5 2,106 1,188
134300 (%6 F et 5,826

134300|50F s 634 0 634 2 972 486
134300 (%6 7 Syt 4,176 0 3,302| 0.3 130 97
134300(#6F f& 840 717 0.3 151 135
134400| k< k et 4,987

134400| k= k & 2,127 2,127 1 270 238
134400| k< k BEAR 1,746 1,618 4 1,512 1,080
134500| & —~< >~ e 14,517

134500|°— < > [SE il 1,242 1,152 0.15 54 32
134500| &’ —~< >~ R 3,600 3,600[ 0.15 97 65
134500|°— < > =y 9,650 9,650 8 2,938 1,728
134700(&5H6A 2L | 2,020

134700(& 5652 L =1 320 320 8 3,024 2,808
1347005652 L R 1,700 1,700 5 1,944 1,620
135500| 2 2= et 108

135500272 = I B 101 0 86| 0.18 254 130
136100|1°A L & et 6,770

136100{n A L & T, 5,965 0 5,965 5 1,998 626




136100|HA L & wE 805 805 5 2,484 1,188
136200|F 5% TeE 6,800

136200| & R 2,800 2,800 10 2,160 1,620
136210( X —7 1 ~ ¥ 5,080

136210| X —27 4 >~ R 5,080 5,080 10 2,700 864
136300|2F ToE 260

136300| 2% BRS 110 110 2 2,376 1,566
136600|7z & ¥ 21,350

136600|7- & BE 18,250 18,250 10 3,024 810
138100({& L W /o lF ¥ 1,171

138100|& L Wizl fig Ly 120 1201 0.08 73
138100({& L W /o lF BE 820 790 0.2 248 86
138500| L& LE ¥ 2,205

138500(L® LE g 2,205 1,620 0.2 81 73
139200( 5 & ¥ 1,538

139200( 5 & ANER L 1,638 1,538 10 14,040 5,400




mAEMm R REFEHS (KRS BEBHR
SH7E6A7H (+mH)

LSS ESEfashE: 173 b

(B ILHEREST)
BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240110|/\ 7RI DA |HEK 160
240110|/N7 ZHA DA (= 160 0 160[ 0.5 540
242320|¥ 33— L F | 5,340
242320|¥ 3+ 3— K | BH 5,340 0 4,180 10 4,104 2,700
242830|3 LW A e 3,600
242830|5 LW AT & 3,600 0 2,530| 10 6,480 3,564
243950| U [y 295
243950| b & 69 69 0] 0.45 594 486
243950| U &I 226 0 221 0.25 410 324
2440107 2 H b e 24
244010|"7 2 H b & 24 0 241 0.3 551 454
244530(F v b HE 112
244530 H b ML 88 0 68| 0.5 572 464
244530(F H b & 24 0 241 1.6 2,160
244750655 & 5 [y 12
244750|B5 & 5 L 12 0 12 1 3,888
245220| 77 7 = 7 [y 210
2452201777 = T BiR 150 0 50 5 4,860 4,482
245230 BN E S [y 84
245230|BEI£.30E S & 75 0 45| 1.4 4,752 3,672
246000|L\B & [y 1,026
24600016 & FfE 90 55 35| 0.25 292 162 378
246000|L\B & &I 313 0 283| 0.25 324 140
246000 LB & R 623 0 623| 0.25 346 130




247100

¥

186

TR XAV

247100| 77— R A B> | B 187 187 9 10,800 4,860
2474917 A > & — X O ANHB# 320

2474910 4 v — X A T 200 0 5

247491174 > —XA 0] R 120 105 5 3,240 2,268
247568| %K I XA v ¥ 3,080

247568|%AH I AR I 3,080 385 5 2,484 1,296
24830078 /1 ¥ 2,340

24830078 /1 ZAN 2,340 2,340 15 3,780 1,728
248800|Z /== ¥ 550

248800|Z 7= £ A/ R 550 550 10 2,916 2,376




